RollNae = ......

(09/20-1)
4811

B. Com. EXAMINATION
(For Batch 2013 to 2016 Only)

(Second Semester)

ADVANCED FINANCIAL ACCOUNTING
(For Re-appear Candidates Only)
BC-201

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all including
Q. No. 1 which is compulsory.

1. Describe the following :
(a) Independent Branch

(b) Hire Purchase vs. Instalment Purchase
System

(¢) Fixed and Fluctuating Capital
(d) Goodwill |
(e) Sacrificing Ratio
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(f) Dissolution of Partnership vs. Dissolution
of Firm

(g) Piecemeal distribution

(h) Gradual distribution of cash.

2. The following informations and particulars
relate to Delhi Branch for the year 2005-06 :
31-3-2005  31-3-2006

(Rs.) (Rs))
Stock 50,000 75,000
Debtors 70,000 95,000
Petty Cash 250 120

Goods costing Rs. 5,50,000 were sold by the
Branch at 25% profit on cost. Cash sales
amounted to Rs. 1,50,000 and the rest credit
sales. Branch spent Rs. 30,000 as salaries,
Rs. 12,000 as rent and Rs. 8,000 as petty
expenses. All expenses were remitted by Head
Office. Branch receives all goods from Head
Office. You are icquired to prepare Branch
Account in the books of Head Office and
verify your answer by preparing Branch
Trading and Profit and Loss Account.

B-4811(TR) 2

3. A, B and C were in partnership sharing profits
and losses in the ratio 3 : 2 : 1. Their Balance
Sheet as on 31.3.2003 was as follows :

Linbilities Rs.  Assets Rs.
Capital Ales : Plant and

A 50,000 Machinery 1,70,000

B 80,000 Furniture and

€ M 220,000 Fixtures 30,000
General Reserve 18,000 Trade Debtor 1,79,000

Workmen's Accidental Less : Provision 10,000 1,69.000

Compensation Fund 50,000 Cash in hand 26,000
Trade Creditors 1,07,000
3,95,000 3,95,000

C retired on that date. It was agreed that :

(a) Plant and Machinery to be revalued at
Rs. 1,94,000. Provision on debtors be
kept at Rs.19.000 and liability for
workmen’s accident compensation was
decided at Rs. 23,000.

(b) C should get, apart from other amounts
due to him, his share in goodwill
Rs. 40,000.
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(c) The total amount payable to C was

Liabilities Rs.  Assets Rs.
brought by A and B in their profit sharing Capital Accounts : Plant & Machinery 80,000
ratio. C 60,000 Furniture & Fixtures 45,000
Immediately after this, they admitted D as a S 40,000 Motor Car 25,000
partner on his bringing Rs. 80,000 as share in R 30,000 Stock in Trade 30,000
goodwill and Rs. 1,40,000 as capital. It was Current Accounts : Sundry Debtors 71,000
agreed that A and B, as between themselves, C 8,000 Cash at Bank 14,000
will share profits and losses equally. -S 10,000 R’s Current Account 3,000
S Creditors 1,20,000
You are required to prepare : STET e

(i) Revaluation Account The following informations are given :

(ii) Partners’ Capital Accounts (i) Plant costing Rs. 40,000 was taken over
(iii) Balance Sheet after all the adjustments by C at an agreed valuation of Rs. 45,000
are cariied out. . and the remaining machineries realised
Rs. 50,000.
4. C, S and R were partners in a firm sharing (ii) Furniture and Fixtures realised Rs. 40,000.

profits and losses in the ratio of 5 : 3 : 2. Due (iii) Motor Car was taken over by S for

to difference in opinion they decided to Rs. 30,000.

dissolve the partnership with effect from (iv) Sundry Debtors included a bad debt for

Rs. 1,200 and the rest realised at a cash
position was as under : discount of 10%.

Ist April, 2008 on which date the firm’s
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(v) Stock worth Rs. 5.000 was taken over by
R for Rs. 5,200 and rest realised at 20%
above the book value.

(vi) A creditor of Rs. 2,000 was untraceable
and the other creditors accepted payments
allowing 15% discount. Realisation
expenses amounted to Rs. 5,000.

You are required to show that Realisation
Account and the Capital Accounts of the
partners on dissolution showing the payments
to them.

Give the journal entries in the books of hire-
purchaser at the time of partial repossession of
goods under full cash price method of
recording hire-purchase transactions.

Explain the stock and debtors system of
calculating profit iz the books of hire vendor
in case of goods of small values.

What is Partnership ? Explain in detail the
essentials of partnership.
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8. Explain the adjustment of capitals of the old

partners on the basis of new partner’s capital
with the help of an example at the time of
admission of a partner.

Critically examine the applicability of
Garner vs. Murray rule in India.

(Hindi Version)

M : WA % 1 afee wfa g e wel

1.

% st dfsa

frefafen =1 avfq =ifew

(31) T@ad wm@n

(%) frrm @i’ s few @lg wonet
(|) fer g @R O

(%) =nfa

(3) = s

(F) TEed foaet @ wd @ fase
(m) el H oo

(%) =dt @1 wfasg faawo |
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2. T4 2005-06 % fou feeeht wmen ¥ wefm

SR o faer e wER R s afa= Rs.  wofirat Rs.
31-3-2005  31-3-2006 ot =m Heid

(%) (%) A 50,000 IR 1,70,000
i 50,000 75,000 B 80,000 HEEL a9l
TTRR 70,000 95,000 C 90,000 220,000 freFaR 30,000
PeH THg AN 250 120 e e 18,000 SR 3R 1,79,000
550,000 & @t @ Hl WEW W g wrebarly e wfagfd I : WA 10,000 1,69,000
A T 25% o9 W oa=l R | e faE wuE 50,000 T UHT 26,000
TRT 1,50,000 % & qwr 9w wra@ fawr e | TR SRR 1,07,000
wr@Er 4 30,000 % dd9 W, 12,000 % 395,000 3,95,000

qar 8,000 & FEwt @ W o@H fEd |
WA wEGE g 9d =g | R o
e Y WR Wi YeE i @ ure @b
MU= YU FHECE H Yl § wEr @
TR FA # omEavE@ 2 AW AW SW
W@l SR Al eN¥-s @ SR S
qafyd & 8 |

AB @ C3:2:1 % 3UQ § WERER
g 1 31-3-2003 w s o fager f=
YER o |
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C st aifim # "afiga & w98 @

EGTI‘F:F:

(31) wag awr weitAd @ 1,94,000 ® 0o
ydfeifa wen & 1 R W 19,000 %
T w owEeE ® qa wde geen
afrgfd & faw @fee 23,000 5 feem
fom |

(F) C = =fa @1 3 3w F 40,000 %,
s ufyel & wfafa foer =ifew

(@) C & fow <@ %@ ufr A @en B a=n

ITh A WOl I W Wt
2ill
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® A unfga fea st =nfa # #w 3 ww
o 40,000 & T Gt ® ®Y W 1.40,000 %,
M | 9E @ few o fE A B oSl
% 9 W g el wsueR & g 2
() e
(i) WERR St @
(iii) aﬂﬁlﬂ}ﬁqar wsft wESA F 9% O
|
4. 0S8 R5:3:2 % 39 ¥ U &Y
A wErr 9 | fam e e % #Rw s
1 379, 2008 I WERA @ faHed wE @
freem foan, 30 ot =1 w4 ) fafy frs
TFR ot
arfre % wefwEr .
T @ oA SR el 80,000
C 60,000 = e fRaET 45,000
S 40,000 HE FT 25,000
R 30,000 =R ¥ =ik 30,000
e B : fafay am=r 71,000
C 8,000 ¥% # Uwe 14,000
S 10,000 R =1 =1 @@ 3,000
S TR - 1,20,000
2,68,000 2,68,000
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frfafaa SmefE & ® €

(i) 40,000 . w GE ael wEE W C
445000 ¥ % WeOd gEA W @ fam
ot 99 wefd & 50,000 & St

(i) wfar sk fremer @ 40,000 5. F
agelt gi |

(iii) #WeT #W 30,000 & F S T & & |

(iv) fafafy el 3 1,200 & & goa =W
wifre fFd sl 9w+ 10% | %
ot g

(v)/ R % 5000 % %1 &€& 5200 % #H
fomn @ 3 TE gE W FW 20%
W oEgen |

(vi) 2,000 % W UH FEH WA A AR
= Al A 15% w2 # sgmf Q@
T YTE wWier fEm | g 5 ow
=g 5000 % #H A |

S HEeR B fauet @ gmn REw g

ayelt @A qun ot 'K fen # srevasd

2
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P ElieR &1 gEmsl d§ fFum '@lig
died Rwifen &t ol s g fafy =
MG HIA & SRE YSR & 9Ed  SHe
gfaftear =ifaw |

h

6. B Al & WHMI & THS § fwua faman
H TR A AH HI AT B LE qd
SRR YOS I SAred ShifelT |

7. GEER T O ? UEEM & sferhet &
fowga aviA =ifeT |

8. TH UEER $ WY ® UHY 79 TEEW
St & YR W WA URRR ® TS @
GUESH Sl A ST Id gE WIS |

9. WRd H MR "W P W w wEiema w5
Mel=cHs  TU&0 Hifog |
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